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Nom: Date: Note:
7, 586 X = 7586 6, 061 x = 60.61
6, 346 % = 6346 6, 743 % =674.3
7,286 X = 72.86 5,516 x = 5516
7, 66 X = 7660 3,5% = 3500
6, 269 % = 62.69 1,018 % =101.8
9,263 X = 02.63 9, 724 x =972.4
9, 634 % = 9634 9, 822 X =082.2
8,228 X = 8228 8, 309 x = 830.9
6, 978 X = 6978 9, 06 X =906
8, 601 x = 86.61 4,502 x = 4502
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Multiplier par des puissances de dix ( nombre

V& %h g

Nom: Date: Note:

7,586 x 1000 = 7586

6, 346 x 1000 = 6346

7,286 x 10 = 72.86

7,66 x 1000 = 7660

6,269 x 10 = 62.69

9,263 x 10 = 92.63

9,634 x 100 = 963.4

8,228 x 1000 = 8228

6,978 x 1000 = 6978

8,661 x 10 = 86.61

6,061 x 10 = 60.61

6,743 x 100 = 674.3

5,516 x 1000 = 5516

3,5 x 1000 = 3500

1,018 x 100 = 101.8

9,724 x 100 =972.4

9,822 x 100 = 982.2

8,309 x 100 = 830.9

9,06 x 100 = 906

4,502 x 1000 = 4502
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